WORKSHEET (6.10.2021)

I. Give the correct form of the verbs with “used to/ didn’t use to”

L HEP T . ooononnonanmumanesn (play) in the market with his friends when he was
young, but now he doesn’t.
2.People ..o (tell) stories in the past because they didn’t have TVs.
el e s e e (not, smoke) few years ago. but now he does because
he is stressed.
4, What ........... cios BB {A0) coanmassinnssna Whe shié wis younget?
— B s (draw) pictures.
84 B o {cit) lots GE vegetableg, ShE ..o (not, eat) meat.
I1. Convert decimal fractions into decimal numbers or vice versa

0.03=— L 18.56 = —

10
=2 115 == Sk
1000 100

II1. Solve the problem
1. George bought 3% boxes of strawberries in the morning and 2% boxes of raspberries.

How many boxes of fruit in total did he buy?

59 34 25
A — B.— C.—
10 10 10

2. A truck is carrying pear juice, cherry juice, and apple juice bottles in a ratio of 1:2:3. If
there are 16 cherry juice bottles, then how many juice bottles are there in total?

A. 48 B. 24 C. 40

IV. Put in order
1. many/ failed/ They/ times,/ but/ tried/ they/./

2. I/ cooking/ to/ didn’t/ use/ hate/.

3. to/ drive/ hours/ John/ for/ long/ used/.

4. to/ Youw must/ homework/ go/ before/ do/ you/ school/./

V. Underline and correct the mistakes

1. We didn’t used to listen to music on Youtube in the past.

2. My brothers have to helping my mom wash the dishes at home.

3. Dolphins live in the midnight zone.
4. Did you use to stayed in a hut?
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